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1.Consider a monopoly with the following long-run average cost function and
associated marginal cost function:(26%)

LRAC =8-0.50
LRMC =8-0

Let the inverse demand function for the monopoly’s output be
P=ILISR20)

Find :

(1)the monopoly pricing, full-cost pricing, and efficient (marginal-cost) pricing
schemes, the deadweight loss, and the profit in each case.(13%) ‘

(2)When the government regulates this market as a fully contestable market, what is
the pricing scheme for this monopoly? Is the regulation necessary in a contestable market?
(13%)

2.In a community there are only two consumers. Consider the demand functions

X,=16—-2Pand X =20-2P for two consumers. Let the price of all other commaodities
equal 1 (composite commodity).(24%0)

(DIfQ = X, + X, is a private good supplied by a perfectly competitive market with
MC =0.50, find the equilibrium level of quantity and price for each consumer.(12%)

(DIfQ =X, +X, is a public good with MC =050, find the equilibrium level of
quantity and price for each consumer, consumer surplus for both consumers each,
producer surplus, and the total social surplus.(12%)
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[ElEDE2a ] y=C(r.y)+1(r,y) +G+ X(e)—eZ(e,y)
ERTE b+cy—dr=M’=D,+eFR
SHETTIRISE BP = X(e)—eZ(e,y)+F(r—r —¢)
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